
Homework 8 

 

1. Suppose that the IS and LM equations are as follows, 

𝐈𝐒:   𝑌 = 𝐶(𝑌 − 𝑇, 𝑟) + 𝐼(𝑟) + 𝐺, 

𝐶(𝑌 − 𝑇, 𝑟) = 𝑎 + 𝑏 ⋅ (𝑌 − 𝑇) − 𝑐 ⋅ 𝑟, 

𝐼(𝑟) = 𝑑 − 𝑒 ⋅ 𝑟, 

𝐋𝐌:  
ℎ ⋅ 𝑀

𝑃
= 𝐿(𝑟, 𝑌) = 𝑀0 + 𝑓 ⋅ 𝑌 − 𝑔 ⋅ 𝑟, 

where 𝑎, 𝑏, 𝑐, 𝑑, 𝑒, 𝑓, 𝑔, ℎ, and 𝑀0 are all positive constants and 𝑏 < 1. 

a) Given an increase in 𝐺, say Δ𝐺, calculate the government multiplier effect. 

Compare your result with (i) the Keynesian Cross case, 𝑐 = 𝑒 = 0; (ii) the 

case where 𝑐 = 0. 

b) If 𝑓 = ℎ = 0, does a monetary stimulus raise output? Does a fiscal stimulus 

work? 

c) If 𝑔 = 0, does a monetary stimulus raise output? What about a fiscal 

stimulus? 

 


